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TRIGONOMETRY : A2

TRIGONOMETRY: A2

sec?0 =1+ tan’0 & cosec?0 =1+ cot?0

A2 Unit 3: Pure Mathematics B

WIEC past paper questions: 2010 — 2017

Total marks available 84 (approximately 1 hour 40 minutes)

Find all values of @ in the range 0° < 8 < 360° satisfying

{a)

2tan’f =sec 6+ 8.

Show, by counter-example, that the statement

3 ¥
sec” @ =1-cosec™@

is false.

(b)

Find all values of 8 in the range 0° < 8 < 360° satisfying

Jcosec @ =11 -2cot 8.

Find all values of 8 in the range 0° < 8 < 360° satisfying

2cosec ™ + 3cot” 8+ 4cosecd = 9.

Find all values of @ in the range 0°< 6 <360°satisfying
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sec” @+ 8 = 4tan” 6 + Ssech.

Page 10f3

(6]

(Summer 10)

2]

[6]

(January 11)

[6]

(Summer 11)

[6]

(January 12)



MAJTHSDIY TRIGONOMETRY : A2

Find all values of @ in the range 0° < @ < 360° satisfying
13 tan’@ = 5 sec’@ + 6 tané. 6]
(Summer 12)
Find all values of #1n the range 0° < 8 < 360° satisfying

4cosec’@=9 — Rcotd. [6]

(January 13)

fa)  Find all values of #in the range 0° < 8 < 360" satisfying
dcot’® — 8 = 2 cosec? — 5 cosech [6]
fb)  Find all values of @in the range 0" < ¢ < 360° satisfying

secd + 2tang = 0. 3]

(Summer 13)

Find all values of & in the range 0° < 8 < 360° satisfying
15cosec?@ + 2cot @ = 23, [6]
(January 14)
Find all values of @ in the range 0° < 8 < 360° satisfying
8tan?@ — Ssecld="7 + dsech. (6]
(Summer 14)

(a) Find all values of 8 in the range 0° < @ < 360° satisfying

T cosec’ @ —4cot’@ = 16 + 5 cosec 8. [6]

{b)  Without carrying out any calculations, explain why there are no values of ¢ in the range
0° < ¢ < 90° which satisfy the equation

4 sec @ + 3 cosec p = 6. (1]

(Summer 15)
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fa) Find all values of #in the range 0° < # < 360° satisfying

3 cosec B (cosec@—1) = Scot?@-9. [6]
(b) Find all values of ¢ in the range 0° < ¢ < 360° satisfying

2 cosecp+ 3 secd=0. [3]

(Summer 16)

fa) Find all values of #in the range 0° < 8 < 360° satisfying
ftan?@—- 6 =4sec?@+ 5sech [6]

(b) Find all values of ¢ in the range 0° < ¢ < 360° satisfying
Isecg+ Stang = 0. [3]

(Summer 17)
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